
𝑝(𝑎) =
41

56
⎯⎯⎯ 𝑝(𝑏) =

15

56
⎯⎯⎯

𝑙𝑒𝑡 𝑎 = 𝑎𝑏𝑜𝑣𝑒 18
𝑙𝑒𝑡 𝑏 = 𝑏𝑒𝑙𝑜𝑤 18
𝑙𝑒𝑡 𝑗 = ℎ𝑎𝑠 𝑎 𝐽𝑜𝑏 (𝑗)

𝑝(𝑎 ∩ 𝑗) =
37

56
⎯⎯⎯

𝑝(𝚥)̅ = 1 −
40

56
⎯⎯⎯=

16

56
⎯⎯⎯

𝑝(𝑗) =
40

56
⎯⎯⎯𝑝(𝑎ത) = 1 −

41

56
⎯⎯⎯=

15

56
⎯⎯⎯ 𝑝൫𝑏ത൯ = 1 −

15

56
⎯⎯⎯=

41

56
⎯⎯⎯

𝑝(𝑎 ∪ 𝑗) = 𝑝(𝑎) + 𝑝(𝑗) − 𝑝(𝑎 ∩ 𝑗)

𝑝(𝑎 ∪ 𝑗) =
41

56
⎯⎯⎯+

40

56
⎯⎯⎯−

37

56
⎯⎯⎯

𝑝(𝑎 ∪ 𝑗) =
44

56
⎯⎯⎯

𝑝(𝑎 ∩ 𝚥)̅ =
4

56
⎯⎯⎯ 𝑝(𝑎|𝑗) =

37

40
⎯⎯⎯ 𝑝(𝑗|𝑎) =

37

41
⎯⎯⎯𝑝(𝑎|𝑗) =

𝑝(𝑎 ∩ 𝑗)

𝑝(𝑗)
⎯⎯⎯⎯⎯⎯⎯

𝑝(𝑎|𝑗) =

37
56
⎯⎯⎯

40
56
⎯⎯⎯
⎯⎯⎯

𝑝(𝑎|𝑗) =
37

56
⎯⎯⎯×

56

40
⎯⎯⎯

𝑝(𝑎|𝑗) =
37

40
⎯⎯⎯

𝑁𝑜𝑡𝑒 ∶ 𝑝(𝑎) = 𝑝൫𝑏ത൯

𝑎 𝑗

374 3

12 56

Not as intuitive 
as a Table

                         > 18  < 18   𝑇𝑜𝑡𝑎𝑙
𝐻𝑎𝑠 𝑎 𝐽𝑜𝑏        37          3         40
𝐻𝑎𝑠 𝑛𝑜 𝐽𝑜𝑏       4         12        16
     𝑇𝑜𝑡𝑎𝑙            41       15         56

𝑇𝑜𝑡𝑎𝑙    41   15    56

𝑇𝑜𝑡𝑎𝑙
   40
   16
   56

𝐻𝑎𝑠 𝑎 𝐽𝑜𝑏    37    3    40 > 18
  37
   4
  41

𝑚

2242 34

29s 127
𝑙𝑒𝑡 𝑚 = 𝑡𝑎𝑘𝑒𝑠 𝑀𝑎𝑡ℎ
𝑙𝑒𝑡 𝑠 = 𝑡𝑎𝑘𝑒𝑠 𝑆𝑐𝑖𝑒𝑛𝑐𝑒

𝑝(𝑚) =
42 + 22

126
⎯⎯⎯⎯⎯⎯⎯=

64

127
⎯⎯⎯

𝑝(𝑠) =
22 + 34

127
⎯⎯⎯⎯⎯⎯⎯=

56

127
⎯⎯⎯

𝑝(𝑚 ∩ 𝑠) =
22

127
⎯⎯⎯

𝑝(𝑚 ∪ 𝑠) = 𝑝(𝑚) + 𝑝(𝑠) − 𝑝(𝑚 ∩ 𝑠)

𝑝(𝑚 ∪ 𝑗) =
64

127
⎯⎯⎯ +

56

127
⎯⎯⎯ −

22

127
⎯⎯⎯

𝑝(𝑚 ∪ 𝑗) =
98

127
⎯⎯⎯

𝑝(𝑚ഥ ∩ 𝑠̅) =
29

127
⎯⎯⎯𝑝(𝑚 ∩ 𝑠̅) =

42

127
⎯⎯⎯

𝑝(𝑚|𝑠) =
22

22 + 34
⎯⎯⎯⎯⎯⎯⎯=

22

56
⎯⎯⎯

𝑝(𝑚ഥ) =
34 + 29

127
⎯⎯⎯⎯⎯⎯⎯=

63

127
⎯⎯⎯

𝑝(𝑠|𝑚ഥ) =
34

34 + 29
⎯⎯⎯⎯⎯⎯⎯=

34

63
⎯⎯⎯

𝑝(𝑚ഥ) = 1 −
64

127
⎯⎯⎯ =

63

127
⎯⎯⎯

22 34

s

𝑚

2242

34

29s 127

𝑙𝑒𝑡 𝐻 = 𝐻𝑒𝑎𝑑𝑠
𝑙𝑒𝑡 𝑇 = 𝑇𝑎𝑖𝑙𝑠

𝑃(𝐻) + 𝑃(𝑇) =
1

2
⎯⎯+

1

2
⎯⎯= 1

Flip a Coin
𝑃(𝐻) =

1

2
⎯⎯ 𝑃(𝑇) =

1

2
⎯⎯

𝑃(𝐻𝐻) = 𝑃(𝐻) × 𝑃(𝐻)

                =
1

2
⎯⎯×

1

2
⎯⎯=

1

4
⎯⎯

Multiplication (Branches)

𝑃(𝑇𝑇) =
1

4
⎯⎯

Table

𝐻𝐻 𝐻𝑇
𝑇𝐻  𝑇𝑇

𝐻

𝑇

𝑇H
T

H

H
T

T
𝑃(𝑇) =

1

2
⎯⎯

𝑃(𝐻) =
1

2
⎯⎯

Tree

0.5

0.5

0.5

Addition (Leaves)

𝑃(𝐻 ∩ 𝑇) =
1

4
⎯⎯+

1

4
⎯⎯=

1

2
⎯⎯ ∩ ∶ 𝐴𝑁𝐷

Flip a Coin Twice

1

4
⎯⎯

1

4
⎯⎯

1

4
⎯⎯

1

4
⎯⎯

1

2
⎯⎯

𝐻

Bernoulli Trials -
Success/Failure

𝑝(𝐻 ≥ 1) = 𝑝(𝐻, 𝐻) + 𝑝(𝐻, 𝑇) + 𝑝(𝑇, 𝐻)

                    =
1

4
⎯⎯+

1

4
⎯⎯+

1

4
⎯⎯=

3

4
⎯⎯

𝑝(𝐻 ≥ 1) = 1 − 𝑝(0𝐻)

                   = 1 −
1

4
⎯⎯=

3

4
⎯⎯

𝑝(𝐻|𝐻) =
1

2
⎯⎯  ; 𝐼𝑛𝑑𝑒𝑝𝑒𝑛𝑑𝑒𝑛𝑡

𝑔𝑖𝑣𝑒𝑛: |
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